Multiplicacion por Celosia (C)

Use la multiplicacion por celosia para hallar cada producto.

53 x96 = 66 x 62 = 92 x 81 = 65 x 84 =

99 x 13 = 18 x 88 = 47 x 79 = 19 x 94 =

1 6 8§ 5 7 2 6
1 4 5
4 2 0
16 x14=___ 85 x42 = 72 x50 = 67 x 84 =
8 5 2 5 6 0 2
1 4 5
1 8 2
85x11=__ 25 x 48 = 60 x 52 = 22 X 64 =
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Multiplicacion por Celosia (C) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

0 1 6

85 x 11 =935

85 x 42 = 3,570

2 5
0 2 4
1 8 0
1 4 8
2 6 0
0 0

25 % 48 = 1,200

72 x50 = 3,600

6 0

3 0 5
3 0 0
1 0 )
1 2 0
2 0

60 x 52 = 3,120

6 4 8

0 0 4

0 8

22 x 64 = 1,408
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